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04 AEgHi2HH| 225,650 210,610 15,040
OO0FalH 108,576
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= 8,208
Al 8,209
301 B A3 82,084 79,613 2,471
= 65,667
= 8,208
Al 8,209
01 MBI 2 HH 462 82,084 79,613 2,471
OINZMEST o4t - FHBOl 82,084,008 82,084
= 65,667
= 8,208
Al 8,209
NE4SH BRYR 270,383 373,792 ~103,409
=2 270,383
301 BB &S 270,383 373,792 A103,409
= 270,383
NEEEEPSE 270,383 373,792 A103,409
OJz42X Beg= 270,383,0002 270,383
=2 270,383
AANE X2 830,000 758,860 121,140
= 384,000
= 148,800
Al 347,200
AZ=XNL 370,000 360,000 10,000
= 296,000
= 22,200
Al 51,800
301 QB AE 370,000 360,000 10,000
= 296,000
= 22,200
Al 51,800
NEEEERTE 370,000 360,000 10,000
ORZ =N & 370,000, 0002 370,000
=2 296,000
& 22,200
Al 51,800
AAINE FBH X2 110,000 98,860 11,140
=2 88,000
= 6,600
Al 15,400
301 B A3 110,000 98,860 1,140
= 88,000
= 6,600
Al 15,400
01 MBI 2 HH 462 110,000 98,860 1,140
OXtASIHE 2=l U 110,000,000 110,000
= 88,000
= 6,600
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SN CR(EH) - NRAY - BES el

[
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R
12
o
£l
0l%
IS

| A 15,400

Y Ret=sS A 400,000 300,000 100,000
120,000
280,000

= H

301 et at= 400,000 300,000 100,000

120,000
280,000

=

01 Al2IE &

ORIt

+=0ll= 400,000 300,000 100,000
fetEs 400,000,000& 400,000

120,000
280,000

0x A

=z H

AEsE s As HEAMY 1,017,496 1,624,811 A607,315
813,997

101,749
101,750

= Hn W

EZZ2 A 780,000 1,491,000 AT711,000
624,000

78,000
78,000

=z HnH

101 el A Hl 780,000 1,491,000 A711,000
624,000
78,000
78,000

= H W

sSE= 780,000 1,491,000 A711,000
OXtgZ 2 AL (2H]) 780,000,000& 780,000
624,000

78,000
78,000

= N W

IS E 237,496 133,811 103,685

189,997
23,749
23,750

= N W

301 2 a=s 237,496 133,811 103,685
189,997
23,749
23,750

= HnH

01 M2 X =62 237,496 133,811 103,685
OgII=SEAME 237,496,000& 237,496
189,997

23,749
23,750

= HnH

RS RSN ELEES) 188,455 172,928 15,527
91,288
27,386
69,781

= HnH

AMNSISTSEMHATZR (LIMINMERR) X 182,575 167,048 15,527
91,288
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CHR|: CIMOIE[fZ =X (St &=
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2N -3 - c2(3H) - NEME - HES Ol AFoH @E% Hl =2
< 27,386
Al 63,901
101 @124 4| 182,575 167,048 15,527
= 91,288
[= 27,386
Al 63,901
04 J|I2ZtRHI22UES 2 182,575 167,048 15,527
OMBIEXNSEMHIAMZ RS CIH|
182,575,000 182,575
= 91,288
[ 27,386
Al 63,901
DEUS=INHEH 2 5,880 5,880 0
201 L2 A 5,880 5,880 0
01 At22t2/H 5,880 5,880 0
ORtA=sHEH 2 5,880,000 5,880
2dolgs 2 1< 11,510 11,510 0
SESHA X 11,510 11,510 0
SHDAIYX 224X 2D 8,000 8,000 0
201 L2 A 8,000 8,000 0
01 At22t2|H 8,000 8,000 0
OPHIAMTX L2tX 2D =42
2,000,000 x4 8,000
SESHAX B&H X 510 510 0
307 g12+0 & 510 510 0
01 222 2H| 510 510 0
OLESUHAX B8 L0 0tE)
30,000 17X 510
AL X ZAH X 3,000 3,000 0
307 @I2+0| ™ 3,000 3,000 0
01 2222 2H| 3,000 3,000 0
O AP X Z A 500,000 6 3,000
2= X 33,029,964 31,208,964 1,821,000
= 9,511,474
=2 431,845
[~ 8,073,342
Al 15,013,303
gooiEs 28,928,280 26,542,270 2,386,010
= 8,821,200
[= 6,988,306
7 Al 13,118,774
S, AWMIE SaEH XN 2,084,000 2,050,000 34,000
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301 L2 A S 2,084,000 2,050,000 34,000
01 AL EE X %=0ll= 2,084,000 2,050,000 34,000
OAmolY TtH otsgsY
1,520,000, 000& 1,520,000
OAImola XtHd E&M=6t=
1,000,000 264 & 264,000
OSMIH s&t&dd KNS
300,000& *1,000& 300,000
Mot EA=3E 2ot 3 130,560 99,600 30,960
307 212+01 A 130,560 99,600 30,960
06 B2 130,560 99,600 30,960
OMmola tH B3 130,560
—2009@ X2 H&aots 19,0003 125 «128 28,500
—20108 X2 H&0ts 19,0008 195 12 44,460
—20118 X &0ts 20,0002 x160F 128 38,400
—20128@ EM40A0tsS
20,0003 x 160 «12& /2 19,200
2S5 MY daz X2 20,400 20,400 0
307 @12+01 ™ 20,400 20,400 0
05 QIR E = 20,400 20,400 0
OMASE Y oelold 248 X
100,000& x17E x12& 20,400
SN BEFNK 24,000 24,000 0
= 9,600
< 4,320
Al 10,080
301 L2 AS 24,000 24,000 0
= 9,600
< 4,320
Al 10,080
10 HAtAHI2 A3 24,000 24,000 0
OE=ustH X2 24,000,000 24,000
= 9,600
< 4,320
Al 10,080
ZHO{EI0IE B AR MRS 438,000 0 438,000
307 glztol 438,000 0 438,000
10 At S X2 X 438,000 0 438,000
Oui@ scl=44| 50,000 *730E «12& 438,000
2t 20l DX HLMLH(EX) 1,500,000 1,243,000 257,000
< 300,000
Al 1,200,000
307 gI2+ol ™ 1,500,000 1,243,000 257,000
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Al 134,400
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= HnH
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6,216
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= H
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OFYHH B8 384,000,000 384,000
= 76,800
Al 307,200
S WAR Mind-up School 29 2,000 2,000 0
201 82| 2,000 2,000 0
01 At22t2ldl 2,000 2,000 0
OZ A=< 500,000& x2H x23| 2,000
Helol® DIols ors¥=s XA 834,000 525,000 309,000
= 333,600
= 150, 120
Al 350,280
301 LEEAF 834,000 525,000 309,000
= 333,600
< 150, 120
Al 350,280
01 A BE A2 834,000 525,000 309,000
ONeold 01018 Ots L=
834,000,000& 834,000
= 333,600
= 150, 120
Al 350,280
oelold 29 X& 285,000 200,840 84,160
307 21201 & 285,000 200,840 84,160
10 AFRISXIE= 285,000 200,840 84,160
OEznda =25 4 150,000, 000& 150,000
ooglold 249 X 135,000, 000& 135,000
HEHASS0ls HHEEZ X 90,000 100,000 A 10,000
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Al 63,000
301 LEEAZ 90,000 100,000 A 10,000
= 27,000
Al 63,000
01 MBI BEE252 90,000 100,000 A 10,000
O3 HMas Ots MHHESE X2
90,000,000 90,000
= 27,000
Al 63,000
O2lolg "oels X& 60,000 46,000 14,000
301 LEEAZ 60,000 46,000 14,000
12 JEI2 &S 60,000 46,000 14,000
Omllels A oIy EssZidd XI& 60,000
—8=3d& 202 0lat 500, 000& *60H A~ 30,000
—233 400 0|4 1,000,000 & *30H A 30,000
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OLIZIHE 01 & F AR oI24H] XI&
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IR0t B8 XN 18,100,000 20,100,000 22,000,000
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& 3,618,000
Al 6,442,000
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= 8,040,000
& 3,618,000
Al 6,442,000
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ogrotEss X 18,100,000,000& 18,100,000
= 8,040,000
& 3,618,000
Al 6,442,000
Q51 0t 241l 28,000 0 28,000
& 8,400
Al 19,600
307 2120 & 28,000 0 28,000
= 8,400
Al 19,600
10 AFRISXIEX 28,000 0 28,000
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& 8,400
Al 19,600
HI&ZOIOF 2utE: BE€E 3,000 0 3,000
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Al 2,250
301 LEEAZ 3,000 0 3,000
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Al 2,250
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== 750
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ONE0ld 552l 3t A K&
2,397,600,000& 2,397,600
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HelZ0ly 2 FETS 23t =Y 1,100 1,200 A100
H5l2 0l 2 YHBS DS 1,100 1,200 A100
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01 ALR eIt 1,100 1,200 A100
O 2 JI2HK 22X RS 1,100
—YSBS WS ALY 500,002 +23] 1,000
—EHAOGHE S Lp S| 100,0002 100
Lol =X B 20,320, 186 17,570,078 2,750, 108
= 7,446,086
= 9,202
= 1,822,601
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HAS CoHE MBAFX S 1,732,220 1,510,670 221,550
= 9,292
= 304,682
Al 1,418,246
IEMEET LItT FESLY) 250,000 280,000 30,000
= 64,299
Al 185,701
301 YBrE A2 250,000 280,000 30,000
= 64,299
Al 185,701
01 AHSI 2 & 263 250,000 280,000 30,000
OIZMBLE LoDl7 FSuyy N
250,000,00024 250,000
= 64,299
Al 185,701
FzAY 2234 X 1,152,310 950, 170 202, 140
= 192,405
Al 959,905
201 Lur2 | 1,120 1,120 0
01 ALR 2l 1,120 1,120 0
OLQIZARAS] FH4Y 70,0002 823l 1,120
307 212H0| & 1,151,190 949,050 202, 140
= 192,405
Al 958,785
10 AEI =X 2 X 1,151,190 949,050 202,140
OF2AY 2224 N 1,151,190
—F 52 926,190,000 926, 190
= 154,800
Al 771,390
—F 62 225,000,0002! 225,000
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Al 32,295
NEEEES 52,710 52,500 210
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= 9,292
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= 19,397
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—Z2IAb eIl 75,600,000 75,600
= 17,458
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SEFEAY 2HUHIE AW 75,600 58,800 16,800
307 212H0| & 75,600 58,800 16,800
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ORBA2AL NAZAEHSY|
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—olEREE2 180, 000! *2CH 360




SN MRS

o A4S FURLEH 29
o9 S HARY (Sl #)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
SEE 24,000
—SAIARE 2,000,0002!+ 122 24,000
ON&ZHIRT Y] 16,440
—H AR XL 500, 00021+ 122 6,000
I E TIPS 220, 00021 +122 2,640
—Z A sl 10,0002 122 1,320
—s2IIRT 22 240,000% 122 2,880
—JIEA & F IR b 300,0002 128 3,600
Ox | 4,200
—0IEXS X ] 50,0002 * 128 600
— YR 300, 00021 * 122 3,600
OBM2Y Yo+ 300, 00024 *122 3,600
OFA Bt 282 Ha 3,000,00021 #14} 3,000
405 X443 S| 2,000 0 2,000
01 ML SEH S| 2,000 0 2,000
ORl@EAEa AT U EXH(AR)
2,000,00021 *14} 2,000
B ALEH N & 37,100 31,000 6,100
401 A2 HIL 2O HI 37,100 31,000 6,100
01 Al& Y] 37,100 31,000 6,100
OCCTVE X BAH5H ) 10,000,0002! 14! 10,000
OBtFA =4 A 3,000,0002 14! 3,000
OS A2 HHIX SAb 60,0008 14 600
O BIIAE ZA 1,500,000 14! 1,500
OFURAME LS UL HSAE ZA
18,000, 000! * 14! 18,000
OZMWABANE JIs2Y BA
4,000,0002 14! 4,000
=05 A 25,000 20,000 5,000
FoZmEAE By 25,000 20,000 5,000
401 A2 HIL 2O 25,000 20,000 5,000
01 Al&H] 25,000 20,000 5,000
OFUSAY] 25,000,002 25,000
HHSH AU (HHRIS) 82,451 84,059 A1,608
o1z 2| 27,871 27,679 192
ol 2| 27,871 27,679 192
101 2121t 27,871 27,679 192
03 RIIAHA22 X2 4 27,871 27,679 192
OSZ0IME HABEIR 27,871
-J=3 836,6802! + 122 10,041
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2N -3 - c2(3H) - NEME - HES 0 Ak oH @;OH Hon=s2t
—J| g 836,680 x400% 3,347
— J}H X2 H 836, 6802 x200% 1,674
—HE S I 836, 680! *150% 1,256
—nS2XH| 140,000& *12& 1,680
— XU ZAlH 80,0002 x 122 960
—I=Eag 20,0009 *2 2 « 122 480
— At 30,000« 122 360
— A2 224
4,470 %1 5H *15A] 2H* 122 1,207
—5dI22Y
4,470 1 5HH*BA| 2tx2 2«12 1,288
—oixtag 4,470 «8A| 2H+202 716
—2F0HM 3
(836,680 /243A| 2+ ) xBA| 2Ex65%+ (20 x 118 4,315
+21E«18)
—MEE2 27,324,000 20/ 1,000 547
Jl=2ZH 54,580 56,380 21,800
Jl2&Hl 54,580 56,380 A 1,800
201 LBt A Y| 21,600 21,600 0
01 AF2221H| 21,600 21,600 0
OFRAN2Z Let=ZH| 80,000& 12 x12& 11,520
O= 2] 70,0002« 12 » 122 10,080
202 014 21,600 21,600 0
02 EHAHI 21,600 21,600 0
OZ M 150,000 * 12 122 21,600
203 YR =Xt 11,380 11,380 0
01 D 22YARFRH| 7,900 7,900 0
Ol YR F A 7,900,000& 7,900
02 MDA R =R 480 480 0
OF AP RFEH| 40,000& x12H 480
04 EN2YARFRH| 3,000 3,000 0
ORM2IYRFAH| 250,0002 * 122 3,000
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A NS
B NS FORNAME 2
Chol: ZOIRXIME a3 (crol: @2
_ _ SIEN
SN - EH . S(3) - MRAY - BES Ofl & 04 Sl ko HRz2
301 YBEAT 79,210 79,210 0
06S-cl-tEEsEads 79,210 79,210 0
Osd=¢ 200,000& »22H «143] 61,600
Os&a &g 20,000 x22H »23| 123 10,560
OBtz 4g 25,0002 #1412 %23 7,050
MWRet =232 2SI 7,000 7,630 2630
301 et al= 7,000 7,000 0
10 HAFAE 243 7,000 7,000 0
OWREBZRLOESI] HHAEOIKS A
7,000 x50 »23| 108 7,000
SEN2E 49,220 45,220 4,000
A2 3 &I 31,220 37,220 6,000
201 gEt=24Ed| 31,220 37,220 6,000
02 2244 31,220 31,220 0
OZZ23 % AA 1,120
—MIIRe3 700,000 x12& 8,400
—aot=E = 60,000& =123 720
—2EINEE= 1,200,000& = 1CH 1,200
—0IEXEE= 100, 000& 2CH 200
—JIetEZ2e=s £ MHA 50,000& 123 600
OLZEE] 9,000
—ZANARZ 750,000 x12& 9,000
OAl & &HI=XIbl 4,800
—HA YL ALE BRI
100,000& =128 1,200
—FolddlEd= 180,000& =122 2,160
— A 2at2teld] 120,000& «128 1,440
OX+EHd| 3,900
—2ZXF X 3,600,000& 3,600
—0lEXI R AIbI 300,000%! 300
OEMN2Z LE+=EH| 200,000& =128 2,400
=P RN 18,000 8,000 10,000
401 Al EHIZ 2O Y| 18,000 8,000 10,000
01 Al£Hl 18,000 8,000 10,000
OFOHQl HMOAAA ISBY AL
8,000, 0002 14} 8,000
OF ALY CCTV & X 10,000, 000& 14 10,000
FO=JAAN 25,000 20,000 5,000
FUSEALE &l 25,000 20,000 5,000
401 Al EHIZ 20 YI 25,000 20,000 5,000




Ha2s
(25 FOIXXHYH 24
oI5 2l ALR! (cHol: a2
M- EB .S (SH) - MEAY - BAS Ao dE = Hm=2
(=] c T * - = S = o = 0:”/&,% Wsa
01 Al & H| 25,000 20,000 5,000
OF 0= ALHH| 25,000,000& 25,000
L AAH (AHR2E) 71,495 71,755 A 260
23| 24,215 23,955 260
A 2| 24,215 23,955 260
101 12| 24,215 23,955 260
03 RIHE*ZZNE 24,215 23,955 260
OSF0IME HAP2E 24,215
=2 836,680 x12& 10,041
= 836,680 «400% 3,347
— JIAH X €] 836, 680-& *200% 1,674
—HEFIH| 836, 680& *150% 1,256
—nEEXH| 140,000 x12& 1,680
—HHZ A 80,0008 x12& 960
— M 30,0008 x12& 360
—IIELEE 80,0008 x12& 960
— A2 Z2ELE
4 4702 %1 5H*15A] 2Hx12& 1,207
_sgooay
4, 4703 x1 5H *8A| 2Fx22 x 128 1,288
— X 4 4702 *8Al 2Hx 15 537
—2EJ1A2
(836,680 /243 A1 2t)*8Al 2+ x65%* (2 «12& ) 430
—MIHEE =S 23,740,000 x20/1,000 475
=&l 47,280 47,800 A520
Jl2&| 47,280 47,800 A520
201 B2 A | 18,000 18,000 0
01 AF22t2|H] 18,000 18,000 0
OB A29H| 80,000 x10H x12& 9,600
[OPIR===1:l 70,0003 x10H x12& 8,400
202 044 18,000 18,000 0
02 EHAHH| 18,000 18,000 0
O XA 150,000 104 x12& 18,000
203 S 2 =&lH| 10,000 10,000 0
01 J|2A2HHEL2=XY| 6,600 6,600 0
Ol 22 2=KXY| 6,600,000 6,600
02 BRIIMYERF=RH| 400 400 0
OXFJAIAH RF=XRIH| 40,000& x 10" 400
04 EASHE 2= 3,000 3,000 0
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= AH O
N = 0 &8 AF S & Al A
A AUR3S
M MAAS FUXXME 22
CHRl: FOIXXIME S45 (e dS)
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
AUR3S 442 734 433,123 9,611
AR3E FOUXXMNE 29 372,822 358,048 14,774
FOUXXHE 243 270,538 265,264 5,274
FAUXNXHEH 29 155,230 142,810 12,420
201 LEtRAHH| 32,600 34,100 21,500
01 At 22| 21,600 21,600 0
OFUXXIHE 298| 600,000& x12& 7,200
OF0UXXIMEH AN 2HHl 200,000 «128 2,400
OFUNXIME +LM2Y B
500,000 x23] 1,000
OFQUXXHE AAX 22t 2,000,000& 2,000
OF0XXIASE 3o&s ¢
0,000 x25H x 122 9,000
03 HAIRHHI 11,000 12,500 21,500
OF0UXXIMEH HEUHE Y HAF
3,000,000& 3,000
OF0UXXIMEH2E ng & Ast 1,000,000& 1,000
OFUXXIHE SMZE A2
500,000 »23] 1,000
OFAE sz 4,000,000 4,000
OXMZEH SHsS(OII2.SXH) 1S
2,000,000 2,000
203 & L=Zd| 600 600 0
03 Al =RIHRF=AIH| 600 600 0
OAEANH &5 F& 600,000 600
301 et A2 117,480 107,760 9,720
10 HAIAHI EAS 117,480 107,760 9,720
OF XX HEH KHASALA &l 24
30,000& x267H x12& 96, 120
OF0IXXIAE AE22 KAZAL Y| B4
20,0002 x4 H %254 20,320
OF0IXXIAE =L Al&d2e] XHE S AR
AlH| B2 A 20,0002 1«52 1,040
401 Al S HI L 20| 2,000 0 2,000
01 Al&H] 2,000 0 2,000
o802 &&x 4 2,000,000 «14! 2,000
405 XFAHRE S| 2,550 350 2,200
01 ML =EFHSHI 2,550 350 2,200
OXNBHEASES Ol (&) 50,0002 *20H 1,000
Qo Xt BZH(AIF 310,000 *54 1,550
DA S2Y 23,400 27,400 A4,000




SN AUHE3S
Hal: AVS FUNKMEH 2
el FOIMXIME A5 (e
SA-BH.C(BH) - HRAY - B O A+ 24 gg;ﬁ; Rz
201 Lur2 | 20,400 20,400 0
01 ALR 2l 9,600 9,600 0
OPIRSHAD =X 2HH| 800,000 122 9,600
02 ZZ2H| 10,800 10,800 0
O3ZzZe=2 2 HA 10,800
—2HR3 800,000 *122 9,600
—SE2He3 10,0002 128 1,200
405 Xt &+ S HI 3,000 7,000 A4,000
01 KAt U S EH S| 3,000 7,000 A4,000
O%=010124 0124 7| (CHA) 2,300,000 *1CH 2,300
OSAE I (ThH) 700,000 #1CH 700
sog 2 XY 68, 170 68, 170 0
301 LB A3 68, 170 68, 170 0
05E-2l-BZEEBHZ 68, 170 68, 170 0
oSz 62,320
—%g 200,000 * 1983 143 53,200
B 20,0008 * 198 x23| * 122 9,120
Opta 45 25,0002 *1172 x23l 5,850
MWRe B2 29S| 4,200 8,260 ~4,060
301 YuHB A3 4,200 7,000 A2,800
10 #AFAIHI S &2 4,200 7,000 A2,800
OMBSZ2ANS)| HEA HOIK SA
7,000% +30% 23| * 102 4,200
R2C A BYSD 29 19,538 18,624 914
101 Q1214 12,138 11,224 914
04 JIAN2R IS4 12,138 11,204 914
OX2T A Heled 2,138
-3 37,5502 %1% %2542 9,533
-R25Y4+Y 37,5502 %1% +542 2,028
— Qi Rpag 37,5502 %12 %123 451
MR 12,017,0002%10/1,000 121
201 Yut2 | 2,400 2,400 0
01 AFR 22l t] 2,400 2,400 0
OZHH2IE 425 200,000 *122 2,400
405 Rt &HF SHI 5,000 5,000 0
02 T AP 5,000 5,000 0
OENTY 10,0002 5002 5,000
S FAN2Y 77,284 72,784 4,500
A2 Q2| 77,284 72,784 4,500




SN

S HA3S

M HUAIS FUAXHE 2
el S FARE AR
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
201 et A | 69,284 72,784 23,500
01 AR 2t eld| 7,800 16, 160 28,360
OFA2E Let=ZH| 500,000& «12& 6,000
O&=J| & Hdgxaz 150,000& x12& 1,800
02 2244 61,484 56,624 4,860
O232= ¥ HAl 20,400
—&JIe3 1,300,000& x12& 15,600
—4ol=ER3 150,000& «12& 1,800
—E282 2 JIEtHA 3,000,000& 3,000
(@Fsi=3.] 15,600
—EANINARST 1,300,000& 123 15,600
OAl & &EHI=XIHl 14,784
—SFoddle+r= 207,000 <123 2,484
—E At st 2tel ] 135,000 «12& 1,620
—sZJIRX&2l 165,000& 128 1,980
—&IotM e 2 200,000 #43| 800
— )| X 22/ 300,000 «12& 3,600
—dA 28I RAEs & FHHI
700,000 =13 700
—JIEb A2 ZHIKR X 300,000 «12& 3,600
OFAL HE Hte&E A 2,500,000& 13 2,500
OFA 218 HFA 3,000,000& 13| 3,000
OFA =& |2l 1,000,000& * 13l 1,000
OXt&| 4,200
—Xtg =Xl 300,000& «12& 3,600
—0lE X=Xl 50,000& 123 600
401 A2 HI L 2| 8,000 0 8,000
01 A& HI 8,000 0 8,000
OFMAEYAIL JIsEZ At
8,000, 000& =14 8,000
FO=JAAANY 25,000 20,000 5,000
= EHALE FHl 25,000 20,000 5,000
401 A& HIS 2 CHYI 25,000 20,000 5,000
01 Al£H] 25,000 20,000 5,000
OF0I=R A ] 25,000,000& 25,000
HH2AZHI(AHRAIS) 69,912 75,075 AN5,163
QA=A 23,912 27,275 A3,363
eI 2| 23,912 27,275 A3,363
101 @12l 23,912 27,275 A 3,363
03 RIAHAZZNHE =+ 23,912 27,275 23,363




o33=
#E2HAY (MUIRIS)
el 2|
S HE - S(EH) - NRAY - BES sk oy e
OS=FRHEH FHAr22l& 23,912
—Jl22 836,680& «12& 10,041
A= 836, 680& *400% 3,347
— JtA X &Y 836, 680& *200% 1,674
—FE SO 836,680 *150% 1,256
—wE2 x| 140,000 «12& 1,680
— M S A 80,000& »12& 960
— M= 30,000& *12& 360
L ECECE
4,4703 1. 581« 15A1 2t 12& 1,207
—5222sE
4,470 1 5HH*8A 2Hx2 2+ 12 1,288
— Xt 4, 4703 «BAI 2+ 17 608
— 253
(836,680 /243A1 2+ ) *BAl 2H+65%+ (4 92 +5 914
H«38)
—dHEE= 28,825,000& *20/1,000 577
=&l 46,000 47,800
Jl=23| 46,000 47,800
201 Et2Ad| 18,000 18,000
01 Al 22/ H| 18,000 18,000
OFN2E Let=ZH| 80,000& 10E «12& 9,600
O=&tl 70,0003 *10E «12& 8,400
202 (4 4| 18,000 18,000
02 A0 18,000 18,000
O A0 150,000 *10E x12& 18,000
203 R =2 10,000 10,000
01 J| 22 P R=48H 6,600 6,600
OJI 22 HRF48| 6,600,000& 6,600
02 RIS F=EY 400 400
OZAINAHRFAHI 40,0002 10 400
04 FEN2ILRFLAH| 3,000 3,000
ORN2IHRFAHI 250,000& «12& 3,000




Mdl = O &0 AF 2 EH Al M
2A: StHEAS
& oS FeXXEH 29
SRl FOUXXMEH 24535 (9 ®2
A BB O(B) - NEAY - BAS Of o e Hl R =2
ol s 431,432 423,182 8,250
SRS =QXXIHEH 29 359,940 350,070 9,870
FOXXIHEH &dat 245,430 238,960 6,470
=X 29 133,640 126,540 7,100
201 B2 HH| 28,800 32,000 A 3,200
01 AR 2teld| 17,800 20,000 A2,200
O=0IXXIdH 23| 500,000& x12& 6,000
OFQUXXIME SEX &2t 2,000,000& 2,000
OFIRASAAS 519 HALE
30,0003 25« 12& 9,000
OUSsUsAtY LMY 72
10,0003 20H 42 J| 800
03 AI2Z I 11,000 12,000 A 1,000
OFUXNXHEH T2 NZFLHE L MAF
3,000,000 3,000
O=F0XXIdHZt NFE & A 1,000,000& 1,000
OF0IXXIHEH SMZH 2F 500,000 *23] 1,000
OXiZEH SHs WS 2,000,000& 2,000
O0gol Megna 2 MasSE NHE HEBE
4,000,000& 4,000
203 Y E =] 600 600 0
03 Al =X H 2 Z=&Y| 600 600 0
OAZAIMZ=ZA 600,000& 600
301 etz azgd 98,940 92,940 6,000
10 HAAHIE A= 98,940 92,940 6,000
O TXIHE XHJSAA AHI24
20,0003 3508 123 84,000
OZFQIRXIHE Ald2te] RS AHAH Aldl 24
20,0003 »3%H 249 14,940
405 RHebF S HI 5,300 1,000 4,300
01 ARt 2EFH S| 3,800 0 3,800
OMa A stolZel (&) 2,000,000 «1CH 2,000
OMSE A MSH (AR 50,000 +1CH 50
OMEse AE(aR) 25,0003 1004 250
OUsSHA MA(AR) 300, 000& *5CH 1,500
02 S N7l 1,500 1,000 500
AT 15,000& 1002 1,500
QAR 29 22,200 22,200 0
201 LBer23 | 22,200 22,200 0
01 At 2teltl 10,800 10,800 0
OLI2dHFHR =& 2| 900,000& = 12& 10,800
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S Tt

el

x
o
H0
02

0x =
for

g >

SA BB CR(SH) - NRAY - A S Aol e =2
02 2324l 11,400 11,400 0
O332= & AMA 11,400
—RERI 900,000& x12& 10,800
—gE RERS 50,000& 123 600
S 823 N3 82,590 82,590 0
301 et a3 82,590 82,590 0
05 -2l-tEasEaa 82,590 82,590 0
Os&=+g 200,000& x23%H *142] 64,400
OogtdEsg 25,0003 » 143 23| 7,150
OSE 3&FA =2 20,0003 +23H+23|«12& 11,040
MWRE ==2 ST 7,000 7,630 A630
301 Et2 a3z 7,000 7,000 0
10 HAIAHIE &3 7,000 7,000 0
ONRe==22SI| 3L S0 S4
7,000& *50H +23| x 102 7,000
SHEANEZZ 89,510 91,110 A 1,600
A2 Z EHI 60,510 62,610 22,100
201 et2Ad| 60,510 62,610 22,100
01 At 2teltl 3,600 7,400 23,800
OFA2ZE Let=ZH| 300,000& =12& 3,600
02 2323l 56,910 55,210 1,700
OB22=<LHA 22,200
—&IIe3 1,300,000& x12& 15,600
— ot ER3 200,000& «12& 2,400
—=28= %2 JIEHIA 350,000& «12& 4,200
(@):K=3:] 1,300,000& x123 15,600
OA & EHIs Xl 15,010
—&EA Z AEE X2l
500,000& = 12& 6,000
—Rolddl+=+2 170,000 x12& 2,040
— A Z3t2teld] 110,000& x12& 1,320
—ZA 22 A AH 1,650,000 * 14 1,650
—EA HEHE &X 2,000,000& 14 2,000
—&d&E 0ls 4Xlbl 2,000, 000& 14 2,000
OXt&| 4,100
—2Exg KX 300,000& x12& 3,600
—O0lEXt =Xl 500, 000& 500
A ZE A 29,000 28,500 500
401 A& HIS 2 CHYI 29,000 28,500 500
01 Al Hl 29,000 28,500 500




A SIS
HM: SRS F=QUXXAHE 2H
SR SEAR2Y (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OFOUNXME =XEUT MO &X2At
20,000,000 « 14! 20,000
OZOHQIEHOIAIA JsSE2 AFYHI
9,000,000% * 14l 9,000
FOl=2IALSY 25,000 20,000 5,000
ZOISHAIE FY| 25,000 20,000 5,000
401 A& HI L =20 25,000 20,000 5,000
01 Al&H] 25,000 20,000 5,000
OF0I=2 AL 25,000,000 25,000
HNSAAH| (SIHRAE) 71,492 73,112 A1,620
ol 29| 29,132 28,952 180
ol 29| 29,132 28,952 180
101 @124 4| 29,132 28,952 180
03 RIHAZZ2RE 4 29,132 28,952 180
OSF0IMEH HAr22IR 29,132
-Jl==2 836,680 * 122 10,041
—J| et 836,680 *400% 3,347
— DA K2 H 836, 6802 x200% 1,674
—HE SO 836,680 *150% 1,256
—WEBXH 140,000 * 122 1,680
—HUZ A 80,000 «12& 960
— 22
(836,6802! /243 A1 2+ ) x8 Al 2H%65%+ (25 x22 + 5,551
26E %108 )
—IESLE 20,000 «2% » 122 480
—520224E
4,4702 x1 5Hx8A| 2tx2 2 x 128 1,288
— A2t 24
4,470 x1 5HI*15A| 2+« 128 1,207
— M 30,000 <128 360
— AR 4, 47024 %8 A| 2Hx20 716
—AEE2 28,560,000 20/ 1,000 572
Jl=A 42,360 44,160 21,800
JleAy 42,360 44,160 A 1,800
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